Lesson 5 Multi-step Factoring and Word Problems
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common factoring ./\.r ',
grouping 0/7
y differewnce of squares

trivomial

&\-% do the chant
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WMulti-Step Factoring

IR TIE VI
=x +3)x-3)

« remove the common factor

lifforence of squares

(2 +3) 4 4 - 9= A+ 3) + (20 + 3P 3)
=M+ Q=30 | enteier s
= (2x + 3)(6x - 3 « remove the common factor
il '(7: ;))'(,ﬁ'll) Cradins " Pt
e b S el « remove the common factor
=320+ 3M2x - 1) e 4
example #1

what is the perimeter of this rectangle if both
dimevsions can be expressed as binamials?
P-2(4 +w>

2
A=6x"+T7x-24 ,
272
> #4¥
o 3

27X —lo 9 =-F 1
@ o T =199 {1
Gx?- lox+Ix -2y S
2% [>X~%)+ 3(3x-8) 2 1=2(5%5)
f_gx —%}(&f+5} A [ :—. /OXW"O l

.
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(X B (Rx+3) =[10x-10 |
P- o (3x-%) +(2x+2) )

2% (32X -3 )+ 3(5><—%)f P=2(2X72)

v example #2
CDX" +ov+9
CxA2)(x+3)
e ABCD
&waM) +&zx2+&x-/'1§
3?41ty -5

2% —|
© WAS )ty ~S
—-(354"-%(9(2

-%X=5
— -%-&

Al = 2x-) \ :

example #3

ol @/“ 2041 = -1l
(1= 11x<(15) 20 % & 150
I8 2y -0 +x-19

l
© 416-5) +5(3x-5)

=Rd
(“5“%““ ‘_—Xé/?(té)’ y&o&%v\o\? e ¢D
[, 15X - T -85 b 5% 2

e v\o’«bdivmble 0\@-
2 15 b = =
® (%(—f?a)‘r (bx+1) " s i/Bxlt;;x—as ¢ mag
| ox+0 | P20 Odoe  15x7-9x- 35
b KX -5 —
? & |§¥2 1 2% ~20% -2
2% (bx+7) ~S(bx+P
S\(\O\«Xg [%)( ~5(bx +5F)
example #4 7 l 6\ EfaEdaRRanT

i

Qavea, %, park iSW '_ X
2642 +lox+] = (Bxv)BXA!

. 1 /rn N o, =00l
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vy vy

_— .
256 %2 +10x+] (5x+l>[5x+'>

Byt )- 2% = Ax

<6X‘\'D’\"f

= 6x- 13
A= (XH)Bx-12) = jox>=-2ht -

example #5 In the diagram below,

* The area of rechnblL ABEF is represented
by the trinomial 6x” +7x -3,

* The area of rectangle BCDE is represented

by the trinomial 10x% +11x —6.
® A l%Xl-' l 8 Sw-2 ¢ €
b+ -> o @ [OvZ4lly —0 x
éYL‘}'qY‘Z-y'B--Am—m’-h-s-- Area=10x"+11x-6 T IOY -HS\I L{\l‘
2Afx2)-1 (AxXA) By (ax-+3)~2(2x43)

[QH%)[M) P € * D (9\>H-5>[6x )

The lengths of the rectangles’ bases and
heights can be represented by binomials. What
binomial represents the length of side AC?

(2% 1) 4 (Gx-2)
= gX’5

# Given the diagram below, the polynomial
example #6 10x* —x -2 represents the area of the a53mme4’m+
rectangle DEFG. dimensispns can
A B . .
- opessal 05 bivemials

mCD = 4units

mAF = 4units @ Ay‘e& /B(PJCQ ‘@

I E
P (1))
e G [0X* +12% + 5 x+1&
Q—wa What is the polynomial that represents the /0 )(2 +J7x +1 &
a\G o area of the shaded region?

— D
j0x2—x - & refaxid @ K
l -k ©) LO%;—FI]XHJ’ / 10x% = x -2 )

[OX>-3X +%¥% =X +3

B (21 + a (X ) - Y
?aoz~1)(>6x+z> %D,[%H'QJ{ _ at ¥ +20 \

= 5w+ —
waks
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you com vow do:
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Page 22 and 23 #12-25 Challenge #2.6
Page 40 # 3-5

Page 42 #14,15
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